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Il Semester B.Com. Examination, April/May 2023 \

(CBCS) (Repeaters) - o)
COMMERCE 34
3.6 : Quantitative Analysis for Business De@cm 74I
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English or Kannada.

SECTION - A
1. Answer any five sub-questions. Each question carries two marks. (5%2=10)

a) Define the term Regression.
T SMOROTIIRY, 339,852, .

b) What is probable error ?
F0LITe0 WRER OTTI ?

c) If N=15, Xxy =122, 6x = 3.1623, dy = 3.464, find r’.
N =15, Ixy = 122, 8x = 3.1623, dy = 3.464 &5T38 XBOLIOTIIY, BOTDHROWO.

d) State the merits of sampling.
BRTOCDL NTEIRENNTIY, SRR

e) Expand (y—1)¢=0
(y = 1)° = 0 am=), DFOA.

f) State the components of time series.
R00dd> ATESCAT oBNIRY E9R.

g) Write any two types of events.
CINR) WD THEY @aén@;’a{g‘ WBOW0.

P.T.0.
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SECTION-B

Answer any three questions. Each question carries six marks. (3x6=18)

2. Find the index number for 2006 from the following table of index numbers using
binomial expansion method.

Year 2004 2005 | 2007 | 2008

Index No. 300 321 471 636

2006 e SR TS 2o, 0TI, B9 BRLITOE DF[ONPOT LTINS 5 I DFISTY,
FORO&HBOWD.

S 2004 2005 | 2007 | 2008
B, 0% 300 321 | 471 636

3. Calculate the two regression equations from the following data :
X =20,Y =12,5x = 5,8y = 25,r = 0.8..
FENT DWONPOT TR &H0WONCID RBROLBITIY, FOBILBOND.
X=20Y=128x=5,6y=25r=0.8.

4. What are the different types of probability sampling techniques ?
ROLRWRLOR WRTWOOD 0T, T3 LTNE CIRTYEY) ?

5. Find the rank correlation for the following data and give your comments :

Marks in Accounts (X) | 84 | 56 |89 | 58 | 59 | 67 | 74 | 78
Marks in Maths (Y) 38 [69 |56 |58 |63 (78|87 | 77

BHTOR DWONFR0ON 3,063 AT BOLOFTTY, FORIEROWD Y 539,859, R.

dﬂ%ﬁéﬁ% 08N (X) 84 |56 |89 |58 |59 (67|74 78
mésvaré:sq @oEns (Y) 38 (69|56 |58 |63 |78 |87 | 77

6. Calculate the probability of picking a card out of a pack.
a) a diamond or a spade.
b) a King or a Queen.

2,070 TR, 8° QR ¢3° DUNYQ 2,000 SMYRY wod) Inamon
a) WoTD FWOOT* BP0 Lo R ew @ciodaag Bricdos HoLdBmRecdF ), ?
b) 200 Dot e55E woTd ToEd DS Jricdos FogdERecddd ), ?
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SECTION-C

Answer any three questions from the following. Each question carries fourteen
marks. (3x14=42)

7. Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when X = 45.

X [ 40 [ 50 [ 38 [ 60 65 | 50 | 35

Y [ 38 | 60 | 55 | 70 | 60 | 48 | 30
St 8RLITHR DPOMLOR 0@ torsuRodd FBOIBYRY Fomd LROWD, Tort Y = 50
RN X BSoDHR, 7BY X = 45 Amn Y B3Semy T0mERA00.

X | 40 | 50 | 38 | 60 | 65 | 50 | 35
Y | 38 | 60 | 55 | 70 | 60 | 48 | 30

8. Estimate the sales for the year 2005 and 2015 from the following table.
B BeL3 o TWeIoow 2005 Y 2015 Fe [HFT WRTLTI), 0TI TRA.

Year

- 1990 | 1995 |2000| 2005 (2010|2015 | 2020
Sales (in 000 tonnes)
=noets (000 ) 400 | 440 | 520 - 700 | - 960

9. Compute Pearson’s correlation co-efficient for the following data and also
calculate the probable error.

Supply
(quintals) 302929 (25|24 |24 |24 |21(18| 15

Price (%) 111213 (14 15|16 |17 |18 (19| 20

Aot imsdoa ATWTLD ) WScwod &0DTRF T *'cféomod xaﬂouomm
cj’aamd m@ Tone BogdmReodd 3) FOBROHRBOWD.

NoWoOTR
(éaomgt) 30 (29|29 (25|24 |24 |24 |21 18 15

WS ) 111121314/ 15|16 |17 [ 18|19 20
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10. Calculate trend values by the method of least squares from the following data

1§ 1

given below :

Year 2001 | 2002 | 2003|2004 | 2005 [ 2006 | 2007 | 2008
Sales 80 90 92 | 83 | 94 99 92 100

Plot the value on a graph and estimate the sales for the year 2010.

B3, BNF DOITE, woTHd AOY T, oY BRODKO Torte BeanIFLNY, 8 0%
zﬁdod:aigt notdés 3030 2010 T womed a‘uwaaswsigt FoRO&BOD.

RRE 2001 | 2002 | 2003|2004 | 2005 | 2006 | 2007 | 2008
RIRTE 80 90 92 | 83 | 94 99 92 100

From the following table find the number of students who have obtained less
than 50 marks using Newton’s method.

Marks 20-30|30-40 |40-50|50-60 |60-70
No. of Students 31 42 51 30 31

23 FPNST VWINPT 50 03NPN0T BRI WIOT amy@rmﬁ xoaiﬁojaa'% maaaai’
TES0IQ, FOTLBOWO.

08T 20 — 30 |30 — 40 |40 -50|50—60 (60— 70
O, PFNY B0, 31 42 51 35 31




